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3) Wl'it 4 (x—1)2 + 9 in standard form. ¥ Never distribule
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Try) Write f(x) = — (x— 2)? + 7 in standard form.
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Write in vertex form
4) y=4x>—8x +13

Find to yedlex
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Write in vertex form
Try)y =— 4x?—8x + 12

Find 4o vevtex
o= -4 b=-8
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5) The height in feet of a dolphin as it jumps out of water at an "
aquarium can be modeled by the function f{t) =— 16t° + 32t ,..n!‘h
where t is the; imeJin seconds after it exits the water.

a) Find the dolphin’s maximum height (y value of vertex)
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b) Find theit takes to reach maximum height ( x value)
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6) Golf ball f(x) =—16x? + 96x y= m
a) maximum height: o 3 6
W= ~15(3)% 46(3) = ~16(q) + 288 = - 144 +288 =145
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b) how long to reach height:
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Write the equation in both forms.
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